
INSTRUCTIONS TO CANDIDATES :
Read the following instructions before you answer
the questions. Answers are to be given in a
SEPARATE OMR ANSWER SHEET provided
inside this booklet. Break the seal and start
answering the questions once asked to do so.
1. Please write your ROLL NUMBER very

clearly (only one digit in one block) as given in
your Admission Card.

2. There are 90 questions in this test. The
questions are arranged in the following order :

• Questions 1 to 35 belong to  Social Science
Subjects.

• Questions 36 to 70 are on Science
Subjects.

• Questions 71 to 90 are on Mathematics.

3. Select the most suitable answer for each
question and completely darken the circle
corresponding to the correct alternative as
shown below.

4. All questions carry ONE MARK each.
5. There is no negative mark. Every correct

answer will be awarded one mark.
6. Do not write your name on any part of the

question booklet or on the answer sheet.
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There are 90 questions in all. For each

question four alternative answers are given

marked as 1, 2, 3, 4. From these, find the most

appropriate answer. The number denoting this

answer is there in the answer sheet against

the question number concerned. Darken the

circle  with Blue/Black Ball Pen only. Record

the answers thus in the OMR answer sheet

only. Do not write anything in the question

booklet except your Roll Number on the cover

page and rough work in the space provided

for the purpose.

1. Match the List I with List II and select
the correct response from the options
given there after.

List – I List – II

a) Decameron 1) Dante

b) Divine Comedy 2) Thomas More

c) The Canterbury 3) Boccaccio

Tales

d) Utopia 4) Jeffrey Chaucer

(1) 2 – a, 3 – b, 1 – c, 4 – d

(2) 3 – a, 1 – b, 4 – c, 2 – d

(3) 4 – a, 1 – b, 3 – c, 2 – d

(4) 1 – a, 3 – b, 2 – c, 4 – d
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1. /G��� I.� /G��� II����#�/��

���B�M
����$�$��+���=��
��%

�*	
�+�I �*	
�+�II

a) �P	��-Q 1) ���R

b) P���#������P� 2) ���� 
�1�

c) ����F�L-� 3) �L�	�M��$�

��$
& 


d) ��G�/� 4) �J+N���� �

(1) 2 – a, 3 – b, 1 – c, 4  – d

(2) 3 – a, 1 – b, 4 – c, 2  – d

(3) 4 – a, 1 – b, 3 – c, 2  – d

(4) 1 – a, 3 – b, 2 – c, 4  – d
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2. �����	���
���	��� ����
�2���� O�/�
��F� ��8
?)��+�����R�)
� S

a) (�� ��J�

b) +LT ��J�

c) +/��U�� ��J�

c) ����A*
)��*�

(1) a,  c, b, d

(2) b,  c, a, d

(3) c,  b, d, a

(4) c,  a, b, d

3. ��#������G�0� +/<�#���
/�����B�M
� 5���$�J���$
+/����)����������G�0#$�&
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���	
��L�?�2�&
��+Y,$��$� ��#��-
=�	��� >�$���$�%

(1) +/<�#�� I����$���� +/<�#�� II
��I���)
%

(2) +/<�#�� I���I���� +/<�#�� II
���$���)
%

(3) �'
�+/<�#��2������$��
+/<�#�� II, +/<�#�� I��F
���$�$�#���,��)#���)
%

(4) �'
� +/<�#��2������$�)
%
���&�+/<�#��II, +/<�#��I
�F����$�$�#���,��)�D%

2. What is the chronological order of
the foundation of the following
associations ?

a) Arya Samaj

b) Brahmo Samaj

c) Prarthana Samaj

d) Ramakrishna Mission

(1) a, c, b, d

(2) b, c, a, d

(3) c, b, d, a

(4) c, a, b, d

3. Consider the following statements and

identify the correct response from the

options given there after.

Statement I  : The British won the
battle of Plassey without any real fight.

Statement II : The battle of Plassey
gave the British a political foot hold in
Bengal.

(1) Statement I is true and Statement

II is false.

(2) Statement I is false and Statement

II is true.

(3) Both Statements are true and

Statement II is the correct

explanation of Statement I.

(4) Both Statements are true but

Statement II is not the correct

explanation of Statement I.
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4. (��)
�Z+/��;��;����# E[
$����O�/���S

(1) /\�I
���%�/�%��-�=�

(2) ���	��
�5]

(3) �/�$
�$�&��$�>���

(4) �G�� ^�����

5. ����� �����
���	��#$�&
��#�U��#���$�� L_��D�

�
�H�
�S

(1) ���#���

(2) $�7���R

(3) +/�������E�*�2����#��� �

(4) +��<���� +/���)�

6. �
�#���������B����$��

��=�8�	�$�


(1) P&>: ��+/E�

(2) �-�L�G
���`#


(3) �#Da��+/E�

(4) �>b�c
 
�+/E�

7. Z����M�� �"�R�[�5#���

=�M�
�(�
�S

(1) (�%�/�%��



(2)  �%�(�%��� 


(3) ��%���%��-�$


(4) ����E�$���#�-�J�

4. Who is the founder of ‘Prathyaksha
Raksha Daiva Sabha’ ?

(1) Pandit K. P. Karuppan

(2) Thycaud Ayya

(3) Poykayil Yohannan

(4) Chattambi Swamikal

5. Which one of the following is not
associated with Renaissance ?

(1) Humanism

(2) Rationalism

(3) Development of regional languages

(4) Evangelism

6. ‘The Doctrine of Lapse’ was
introduced by

(1) Lord Dalhousie

(2) Robert Clive

(3) Lord Wellesley

(4) Lord Hastings

7. The ‘Drain Theory’ was propounded by

(1) R. P. Dutt

(2) C. R. Das

(3) M. N. Roy

(4) Dadabhai Naoroji
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8. �����/-$��#$�&�/�����
��8�$�?���+d�D�
�
�H�
�S

(1) E���LP
�

(2) �8�
&

(3) >� 
J�

(4) ��?��J������'

9. /��������8�$�?
��8�8 
����
 


?�>���+�����#���$�)
�O���

��]���
�S

(1) 9R�

(2) 9:J�/e


(3) ����

(4) +N�� 


10. �����/-$��#$�&����	��2���
���Qb�F����=���(+��)#�
��$��L_�=G���
�S

(1) >�?�$�� �N�$

(2) P���#������P�

(3) ���R

(4) ���C1I��5f
��� ���

11. >�=$�&�(����$��/���#<�

g���� ��
�$� 9R��	���

(��)
�S

(1) � 
%�(�%�-�#�

(2) �$�-��� �>
��

(3) P�%�P�%���� ��L�

(4) (�%�P�%�L���J�

8. Which of the following is not a
palaeolithic site ?

(1) Bhimbetka

(2) Lothal

(3) Hunsgi

(4) Nagarjuna Konda

9. Lascaux cave paintings of the old
stone age are located in

(1) India

(2) Egypt

(3) China

(4) France

10. Which among the following is

connected with the Turkish conquest

of Constantinople ?

(1) Hagia Sophia

(2) Divine Comedy

(3) Dante

(4) Ninety Five Theses

11. Which Indian archaeologist

conducted the first excavation

at Harappa ?

(1) S. R. Rao

(2) Daya Ram Sahni

(3) D. D. Kosambi

(4) R. D. Banerji
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12. /��������1)��N���8�/�
#�$��M��
�
�(��)
�S

(1) ���L�8�$�

(2) -:8�� Q

(3) �>�-��>,�� 


(4) �?��P�����&P


13. E1��$���� �/���8
�&������

�0��8	
��/����R�-���#<�	
2������/��8$�8��� �+d�$�8��
�R��#���� ��)�'�#���S

(1) ��/��8��1����.� �+d�
��-$���

(2) ��/��8$��� �+d�$��
��-$���

(3) ��/��8���-$���.� �+d�
�1����

(4) ��/��8$��� �+d�$��
�1����

14. #���� E1#h�����i�	�=G���
	���


(1)  �8�	Q.��?
�,*������#
���=G�E������-@
/���U������'


(2)  �8�	Q.�58�����$�
���#����=G�E���M
/���U������'


(3)  �8�	Q.�58�����$�
���#����=G�E���
��-@�/���U��
���'


(4) ��	&.�9���
����#$�
��$� E���M�/���U��
���'


12. Who deciphered the ancient
Cuneiform script ?

(1) Chambollian

(2) Rawlinson

(3) Henry Heras

(4) Gordon Childe

13. What difference in temperature and

density of materials are observed from

the surface of the earth towards the

interior ?

(1) Temperature increases, density

decreases

(2) Temperature and density decreases

(3) Temperature decreases, density

increases

(4) Temperature and density increases

14. Continental crust is made up of

(1) Lighter materials, mainly Silicon

and Magnesium

(2) Heavier materials, mainly Silicon

and Aluminium

(3) Lighter materials, mainly Silicon

and Aluminium

(4) Heavier materials, mainly Nickel

and Iron
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15. E1/����#8���	���$����-�
��	���$����]��� d�E�
2�&� >�$�������
�H�
��,��
$�&���g�=��
��������)
�S

(1) ��g���,��

(2) +/<�#����,��

(3) E�����,��

(4) ��+���
� ����


16. E1/��2�&���#��#���
 1��=�	���


(1) �-�P���

(2) ��#�������8����

(3) ���8���

(4) 5���
���

17. /�8���8

� 98�2���� 5+?
�2�8����I
��)�
�+/�8�2�8��
/I�=���M����)����#0
�0�
�2�)


(1) >��� (2) ��*���

(3) �@
 (4) /���@


18. 1 : 200000 ��������8�0�4��
E1/�
�&��'
�O8����i�&
4� � %� ��%�5�8��'
%�9:�O8
����i�8�0�$W��U��1���+��S

(1) 2���%���%

(2) 6���%���%

(3) 8���%���%

(4) 10���%���%

15. Identify the method of representing
map scale that is helpful while
enlarging and reducing maps.

(1) Graphical scale

(2) Statement of scale

(3) Representative fraction

(4) Metric scale

16. Red lines in maps indicate

(1) Roads

(2) Power lines

(3) Canals

(4) Boundaries

17. The waterdroplets usually found on
leafblades and other cold surfaces in
early mornings are

(1) Frost (2) Dew

(3) Mist (4) Fog

18. Two places are 4 cm apart in a map
with the scale 1 : 200000. Find the
actual ground distance between the
places.

(1) 2 Km.

(2) 6 Km.

(3) 8 Km.

(4) 10 Km.
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19. HI#�������0�E:�/�2�$�)


(1) ���


(2) ��F�&

(3) E1#h�

(4) ��8��\8�

20. H��K�8��� �'
�5;�����

	��$�8�0�5�8�

(1) �B��5;����2�&�HI#��
�1���8�$���	��

(2) +B�#��2����	�����
��-$���

(3) �D�$��
���4����/��8$�
$���	��

(4) +B�#��2����	�����
�1����

21. 9R�$����E1#�<A����+�$�)
�S

(1) 32.8 ��8;���%���%���%

(2) 328 8;���%���%���%

(3) 3. 28 8;���%���%���%

(4) 3. 28 ��8;���%���%���%

22. L ��G
������8��1/�
���0���


(1) 5# ������Aj,���	�=G


(2) J,#J�8����C����$�&
5��=G


(3) �I
���8�2������$�R�,��)

�81��

(4) 8�#��)�
�-@


19. The thickest layer of the earth is

(1) Core

(2) Mantle

(3) Crust

(4) Lithosphere

20. The distance between any two

latitudes is

(1) Maximum at mid latitudes

(2) Decreases towards the poles

(3) Same everywhere

(4) Increases towards the poles

21. The areal extent of India is

(1) 32.8 million km2

(2) 328 lakh km2

(3) 3.28 lakh km2

(4) 3.28 million km2

22. Basalt is a rock formed by

(1) Lithification of sediments

(2) The burial of living organisms

(3) The metamorphism of other rocks

(4) The cooling of lava
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23. ��$����#��g����	���?#Q

��F��F�k�����
�S

(1) �,�����$�#�E�?�

(2) ��$�����i�)� E

(3) �������l>)�#�E�?�

(4) L�1�-�+� �

24. ����������
���	����&

��>�	����$��������8$�&

�=��
�


(1) �,�
�	�����2����#�B�	


5=,&����	��%

(2) �:8���5#����2���$�

L_�=G��� ���

/��?)�	��%

(3) ��$����#��g����	��%

(4)  �O����� �i�8�0

��	�2���$��L_�=G

�� ����/��?)�	��%

25. 9R���+/ �PF��F�5 ���"�


�&� (��)
� 5��>
��F

����8������l>�	���
�S

(1) +/B���+R�

(2) ?#�C�

(3) ��# 
�+/ �PF


(4) �,N
�J 
I� 


23. Which organ of government interprets

laws ?

(1) Judiciary

(2) Legislature

(3) Executive

(4) Bureaucracy

24. Which of the following is not a function

of High Court ?

(1) Hear appeals on verdicts of

subordinate courts

(2) Consider cases relating to the

violation of Fundamental Rights

(3) Interpretation of laws

(4) Consider the cases relating to

the disputes between state

governments

25. Who performs the functions of

President of India in his absence ?

(1) Prime Minister

(2) Governor

(3) Vice-President

(4) Chief Justice
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26. ��J� E�5�?��2�����@��

	���


(1) 5�#�*�
	


(2) 6�#�*�
	


(3) O����$������@��	���

(4) 65� #$m
� /1�
�$�	���

#��

27. ��#������
���	����&

9R���+/ �PF��F�����8�$�
�S

(1) ���L��I
��$�?�2�&

5"�;��#>�	��%

(2) �8�� E�����@��=��

��&���G��#>�	��%

(3) �8�� E�/�m�	�����$�
��	
�5�?�������&���%

(4) ��# 
�+/ �PF���

��$��	��%

28. ��#��� ���
���	����&
9R��� +/ �PF��������@��
	�#���0�98�
I-&�����2J�&
���=��
���
�S
(1) ��J� E$��8�����@��	
�=G�5�?��

(2)  �O����8J��aI,#
��:Q
 �8��8�����@��	�=G
5�?��

(3) �8�� E$��8�����@��	
�=G�5�?��

(4)  �O����8J��aI,#

5 �n�$��8�����@
��	�=G�5�?��

26. The members of Rajya Sabha are

elected for

(1) 5 years

(2) 6 years

(3) Permanently elected

(4) Till the completion of 65 years

27. Which of the following is a function of

the President of India ?

(1) Presides over the meetings of

the Cabinet

(2) Supervises election to the Lok

Sabha

(3) Gives assent to the bills

passed by the Parliament

(4) Appoints Vice-President of

India

28. Which of the following is not included

in the electoral college for the election

of the President of India ?

(1) Elected members of Rajya

Sabha

(2) Elected members of the State
Legislative Council

(3) Elected members of the Lok
Sabha

(4) Elected members of the State

Legislative Assembly
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29. ��#������
���	���+/<�#�

�2�&� 9R��� +/B���+R��$
 �L_�M���
�2�����$�$#
H��D���S

a) ���L��I
��$�?�2�&
5"�;��#>�	��%

b) ���L��I
��,�������
+/ �PF����5-�$�	��%

c) �8�� E$��������#


d) �8�� E� �i2��2�&
5"�;��#>�	���%

(1) b $����c $���d $��

(2) a $����c $���d $��

(3) a $����b $���d $��

(4) a $����b $���c $��

30. ��J� E� �i2��2�&
5"�;��#>�	�����
�S

(1) � 
/,	�

(2) �+/ �PF


(3) ��# 
�+/ �PF


(4) � +/B���+R�

31. ����������
�G�0#$�&� �+/,�
�������JP
J��������I#����)
��]���0�5B������(��8�)

��;�/e��$���	���
�S

(1) /��8��F


(2) +/ �PF


(3) +/B���+R�

(4) ��# 
�+/ �PF


29. Which of the following statements are
correct in relation to the Prime
Minister of India ?

a) Presides over the meetings of
the Cabinet

b) Informs the President the
decisions of the Cabinet

c) Leader of Lok Sabha

d) Presides over the meetings of
Lok Sabha

(1) b, c and d

(2) a, c and d

(3) a, b and d

(4) a, b and c

30. Who presides over the meetings of
Rajya Sabha ?

(1) Speaker

(2) President

(3) Vice-President

(4) Prime Minister

31. Which of the following has the power

to impeach the Judges of the Supreme

Court ?

(1) Parliament

(2) President

(3) Prime Minister

(4) Vice-President
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32. ���2���$�����i�)� E$��8	

�+��5�?��2�?#�)�����
����������]����S

(1) 2 (2) 12

(3) 1 (4) 9

33. ��+d� o� �O���L_�2�&
��I�� #��
������$�� ����
���
���	����&�H��� E�)
k��� �E�?��$�)
� 9R�$�&
 ^,���M���	���
�S

(1) /��8��F��F���#8
E1��/;�

(2) /��8��F��F� +/����
E1��/;�

(3) /��8��F��F� +/����
E1��/;#���/����
 �O���2���
5�?,���#��

(4) /��8��F��F�+/�����E1��
/;#�����8�&��1�
� �O��
�2����5�?,���#��

34. H��\8���$�����i�)� E�
2�0� �O����

(1) L,>�-����
�+/�����

(2) �>���+Y$�����C���#��

(3) (+_�+/������L,>�-��

(4) ���2#����
�g\��

35. 9R�$��8���+d�B������#��=

�+R�

(1) ��J
��W
� ��


(2)  �*�� ^��J


(3) 5��Q��J$
I
8�

(4) �#K]���$�P�

-11-

32. How many members are nominated
to the Kerala Legislative Assembly by
the Governor ?

(1) 2 (2) 12

(3) 1 (4) 9

33. Which of the following amendment
procedure is used in India to make
changes in Centre-State relations ?

(1) Simple majority of the
Parliament

(2) Special majority of the
Parliament

(3) Special majority of the
Parliament with the ratification of
half of the States

(4) Special majority of the
Parliament with the ratification of
three fourth of the States

34. Which states have unicameral
Legislature ?

(1) Bihar and Uttar Pradesh

(2) Maharashtra and Karnataka

(3) Andhra Pradesh and Bihar

(4) Kerala and Uttar Khand

35. Union Finance Minister of India

(1) Raj Nath Singh

(2) Sushma Swaraj

(3) Arun Jaitley

(4) Venkaiah Naidu
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36. 4��� 5 
�+��)��	&� $1)�I

���


(1) E1��$����+d�����i�8�0
5�8�

(2)  1�������+d�����i�8�0
5�8�

(3)  1������E1��$����i�8�0
5�8�

(4)  1������L�B�����i�8�0
5�8�

37. 5R�,;�����52	���0
�/��)�

(1) L�����,I�

(2) p1�	��,I�

(3) 8��
����,I�

(4) ��8�-��,I�

38. 4���L��� ��?
�I
� �1��� E�?�
2�$�� ������� ��-�	��$��)
K�&��'�����(�����R��
+B�#�2�����C�

(1) 2

(2) 3

(3) 4

(4) 6

39. 4��� ��+?�P-�&� 5��� 5�q�
�����5��E#�=����k�*)
L8�

(1) ��r8�k�*)�

(2)  ����&�k�*)�

(3) ���2&�k�*)�

(4) 9������D

36. One astronomical unit is the distance
between

(1) Earth and Moon

(2) Sun and Moon

(3) Sun and Earth

(4) Sun and Mercury

37. The instrument used to measure
atmospheric pressure

(1) Barometer

(2) Glucometer

(3) Lactometer

(4) Calorimeter

38. If a bar magnet is cut lengthwise into
three parts, the total number of
magnetic poles will be

(1) 2

(2) 3

(3) 4

(4) 6

39. What type of frictional force comes
into play when rice is grinded in a
kitchen grinder ?

(1) Static friction

(2) Sliding friction

(3) Rolling friction

(4) None of these
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40. 1 /�� �
�s�________ �+/���
#�*�%

(1) 6.23

(2) 2.36

(3) 3.62

(4) 3.26

41. 4���L�����?
�I���0��8q��+/�#��
	��$���5��&������/�-�=��

�$�����]�����R���L8��g
�2�����C
�8�0�#���� �
��=�����_______ ($���	��%

(1) 5�R�

(2) /1J��

(3) >1

(4) <1

42. 4���/R
�8�L��$�����2��8�	
-�$���%�/���#B���$�
��8
�

����

(1) +/�#?��/1J���)
.��^�)��D

(2) �^�)�� +/�#?�
�(!$�
	���D

(3) �^�)��'
.�+/�#?��/1J��D

(4) 9������D

43. 2 m2�/�=2#�0�4������$���

�/���8
�&�100 N �L8�

+/�$�?�	���%� �/���8
�&

5��E#�=��������

(1) 100 Nm–2 (2) 50 Nm–2

(3) 25 Nm–2 (4) 5 Nm–2

40. 1 parsec = ___________ light year.

(1) 6.23

(2) 2.36

(3) 3.62

(4) 3.26

41. The difference in the number of

magnetic field lines entering and

leaving a bar magnet is always

(1) Infinity

(2) Zero

(3) > 1

(4) < 1

42. A ball is thrown vertically upwards. At
the maximum height, its

(1) Velocity is zero and there is no
acceleration

(2) Acceleration is independent of
velocity

(3) Acceleration is present and
velocity is not zero

(4) None of these

43 A force of 100 N is applied normally
on a table top of area 2m2. The
pressure exerted on the table top is

(1) 100 Nm–2

(2) 50 Nm–2

(3) 25 Nm–2

(4) 5 Nm–2



M-1

Class – VIII SAT

-14-

  44. 4�������/����� �1�� 40 km h–1

�#?�$�8���5��
�/������1��

60 km h–1 �#?�$�8��� f��

	���%���-��F�������� �#?�

�+��S

(1) 48 Km h–1 (2) 100 Km h–1

(3) 50 Km h–1 (4) 40 Km h–1

45. 9R�$����5)��7���i,*�F

(���
���$����

(1) #�+��� ���E�$


(2) �>����J>��?���E�E

(3) �P�%��%�/�%��J%�5t����8��

(4) 9#��8����D

46. ���L�B������q��/��	���4��
#<�#��F�1s, �2s,�3s  �$��	�
��*��0� +/�#?�������=-
$���5��/��
�8�$���	��%

(1) 1 : 1 : 1 (2) 1 : 2 : 3

(3) 1 : 4 : 9 (4) 1 : 3 : 5

47. ����� /-$��#$�&� #����
#O�$� �L_�M
� ���$�$
+/<�#��H�
�S

(1) 5R���u�+���L8��
HI#����1���&

(2) 5R���u�+��O8��HI#��
�1���&

(3) ��$���$�(�A��$��
#��/e#����'


(4) ��$���$�#��/e��'

���&���$���$�(�A��
$�D

44. A car covers half the distance with a
speed of 40 kmh–1 and the other half
with a speed of 60 km h–1 . The average
speed of the car during the whole
journey is

(1) 48 Km h–1

(2) 100 Km h–1

(3) 50 Km h–1

(4) 40 Km h–1

45. The first Chairman of Indian Atomic
Energy Commission

(1) Vikram Sarabhai

(2) Homi Jahangir Bhaba

(3) Dr. A.P.J. Abdul Kalam

(4) None of these

46. The velocities of a freely falling body at
the end of 1s, 2s, 3s of its fall are in the
ratio

(1) 1 : 1 :1 (2) 1 : 2 : 3

(3) 1 : 4 : 9 (4) 1 : 3 : 5

47. Which of the following statements is
correct for gaseous state ?

(1) Inter molecular forces are

maximum

(2) Inter molecular space is

maximum

(3) Have definite shape and

volume

(4) Have definite volume but no

definite shape
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48. +�#��.� ��/��(?��)�� ��]�
����� ����� /-$��#$�&
��R��	� �E#�	���S

i) �)���2�����:�v�
��-$���%

ii) �)������i�8�0�5�8�
�1����%

iii) �)������i�8�0
(��*)���1����%

iv) �)���2�����8����1����%

���$�$� +/<�#��������

�@��	��%

(1) i) & iv) (2) ii) & iii)

(3) i) & iii) (4) ii) & iv)

49. ����=-$����&�H�
� �� 

+/#�
�����	������)


�
���#������'�����
�S

(1) ���=��w����=�M�H2SO4

(2)  �K
�w����=�M�HCl

(3) NH3 + H2O

(4) 58����,$��w����=�M�HNO3

50. �18���	
�+/�,�����&���

�,���(����$��#�� �=��M��


��+<x��)


(1) �J�Q�P��GQ

(2) ���P8,#


(3) �L�
 ,8�$m


(4) ��� 
8�

48. Which of the following happens when
matter absorbs heat ?

i) Energy of particles decreases

ii) Distance between particles
increases

iii) Attraction between particles
increases

iv) Movement of particles increases

Select the correct option :

(1) i) and iv)

(2) ii) and  iii)

(3) i) and iii)

(4) ii) and iv)

49. Which of the following reactions will
give an inflammable gas ?

(1) Copper + dil. H2SO4

(2) Zinc + dil. HCl

(3) NH3 + H2O

(4) Aluminium + dil. HNO3

50. The method of assigning symbols for
elements was developed by

(1) John Dalton

(2) Mendeleev

(3) Berzelius

(4) Moseley
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51. ����������
�G�0#$�&
H����	��18���2$�)
�5#
$������-��5��O����	�
�����)����$e�G�0�
�S

i) �+����$�

ii) ��1-�$�

iii) �`�-��

iv) ���=�

�����������$�$�
�����@��	��%

(1) i) & iii)

(2) i) & iv)

(3) ii) & iv)

(4) i) & ii)

52. ���P����J��
�(�:�J���*�)
+/#�
���2�  �L_�M

HI#������$�$���
�S

(1) ��/��(?��)����]����� 
+/#�
���

(2) +/�����(?��)�� ��]��
�� +/#�
���

(3) ��#�������v�� (?��)�
��]����� +/#�
���

(4) ��/�. +/����.� ��#���
����v�����#$��8��
K�8���(?��)����]��
�� +/#�
���

53. ����������
���	��#$�&�-,
���v
���]�#���� &�H�
�S

(1) ��+P�� &

(2) �8`���*�� &

(3) ��	&y��P
��$��� &

(4) ���	�-��� &

51. For which of the following elements
the basis of naming is their colour ?

i) Chromium

ii) Curium

iii) Chlorine

iv) Copper

Select the correct option :

(1) i) and iii)

(2) i) and iv)

(3) ii) and iv)

(4) i) and ii)

52. Which of the following is the most
correct for endoergic reactions ?

(1) Chemical reactions which
absorb heat

(2) Chemical reactions which
absorb light

(3) Chemical reactions which
absorb electrical energy

(4) Chemical reactions which
absorb heat, light or electrical
energy

53. Which of the following is a
rechargeable cell ?

(1) Dry Cell

(2) Leclanche Cell

(3) Nickel-Cadmium Cell

(4) Mercury Cell
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54. ����������
���	��#$�&
L>��5�I������u�+��2�0
�18���J�P��H�
�S

(1) P & Ar

(2) H &d S

(3) O & Xe

(4) P & S

55. �����	��� �8�>�2�&�H��
��)
�+�#)�K��HI#�����-#
�S

(1) �/�G� ��

(2) 8�W�$�

(3) ?�8�$�

(4)  �K


56. 5�I����� �g��19�($

�18�
�&� 19y ���


98�
�+��Q�H�
��*D�&�()


O������]���
�S

(1) K��*&

(2) L��*&

(3) M��*&

(4) N� �*&

57. �+/��=$
�F� 5 �u�+��2�&

�+��H (I����'
�S

(1) 8

(2) 40

(3) 30

(4) 20

54. Which of the following pairs of
elements have polyatomic molecules ?

(1) P & Ar

(2) H & S

(3) O & Xe

(4) P & S

55. Which of the following metals has the
lowest melting point ?

(1) Potassium

(2) Lithium

(3) Gallium

(4) Zinc

56. For an element with atomic number
19, the 19th electron will occupy which
shell ?

(1) K Shell

(2) L Shell

(3) M Shell

(4) N Shell

57. How many H-atoms are present in 5
molecules of propane ?

(1) 8

(2) 40

(3) 30

(4) 20
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58. ��I�$� +/<�#������M-�

�@�����%

(1) ���Nz�Q����Qb�	
�/�+�

����'�	��� �/�$�?�

	���

(2) -�$�Q�(�G�N�*�&� �&	


��-�$�=����

(3) ��-�8��� �/�2�b-��
� 4��

���>�)��)


(4) ��8�����4���������

X�b�	
�()


59. HNO3 $���� 5Q��>��+PP


H��)
�S

(1) NO2

(2) N2O5

(3) �N2O3

(4) �NO

60. �����	��#$�&������� ���

$�$�+/<�#������@��	��%

(1) ����I����Q+���$�Q
�>�����)�����8
=���=�
�	���%

(2) �����2�����:�J��8$��)


�?��?������X�{


(3) ��-�L�� �����������

2�&���� ������)����
���%

(4) ���P�X� 
���
� �-G�	�8�

J8�.�8#)��.�#� �J��#<�

	�����#� �E��	���%

58. Identify the wrong statement.

(1) Teflon is used in the manufacture

of nonstick cookware

(2) Rayon is known as artificial silk

(3) Terylene is an example for

polyester

(4) Melamine is a thermoplastic

59. Which is the anhydride of HNO3 ?

(1) NO2

(2) N2O5

(3) N2O3

(4) NO

60. Select the correct statement from the

following.

(1) Mitochondrion produces

hormones

(2) Golgi complex are called power

house of the cell

(3) Ribosomes synthesise proteins

in  cells

(4) Endoplasmic reticulum stores

water, minerals and waste

products in a cell
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61. /��=�&��� ��/��=
����	���


+/B����$���H�
� ���?�#Oq


���)������S

(1) +/��>�

(2) �������?��

(3) >A�$�k���

(4) ��P,<�E��

62. �^� ������ #�� �	�����

/1�#O���� +/�/�	��������$

+R�	���


(1) 5���2�

(2) P$+N�

(3) �^ ��

(4) ���-��{


63. ����������
���	���J,#���2�&

�^	�81����^ �	������#�0

J,#��2�����J�P��H��)
�S

(1) �C��.�*P
/��

(2) �|��.�*P
/��

(3) �#2.��C��

(4) /;�.��#2

61. Adulteration of dal with Kesari dal

mainly causes

(1) Diabetes

(2) Liver diseases

(3) Heart attack

(4) Paralysis

62. The expansion and contraction of the

lungs is controlled by

(1) Oesophagus

(2) Diaphragm

(3) Bronchi

(4) Thorax

63. Which of the following pair of

organisms can respire through skin ?

(1) Earthworm and insect

(2) Fish and insect

(3) Frog and earthworm

(4) Bird and frog
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64. �)��	��$������+<,$�����

����@��	��%

(1) ����# 
� 
�X�P� 


(2) �� �$�N�b�8

(3) �L� 
����- 


(4) ����	� 
���1 ��N-

65. /1	�	���N8��	��� �@

��-#�����#����-#����&���

#�)��2�)


(1)  ��R�N�D���(�R� 

$������

(2) (�R� $������

�`��-�N�D��

(3) ����G������`��-�N�D��

(4)  ��R�N�D�������G����

66. 8#)��5���$���	��� J8�

(?��)�� ��]���
� ���*�

�>��+d�$�#�#O$����H�


E�?��)
�S

(1) (���$�

(2) ��-����&

(3) #�$

(4) #����&

64. Select the scientific name of

Kanikonna (golden shower).

(1) Corvus splendens

(2) Cassia fistula

(3) Bos taurus

(4) Cocos nucifera

65. Identify the pigments that give yellow

colour and red colour to flowers and

fruits.

(1) Xanthophyll and anthocyanin

(2) Anthocyanin and chlorophyll

(3) Carotene and chlorophyll

(4) Xanthophyll and carotene

66. The part of human digestive system

where absorption of water containing

minerals takes place

(1) Stomach

(2) Small intestine

(3) Mouth

(4) Large intestine
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67. /$-�����$�����#���2�&���)
�=����L�},��$�()


(1) ������X� ~

(2) ��-� �L�$�

(3) ����+��L�}�

(4) 8��
���L� �8 


68. �����/-$��#$�&�� ^�+?��
$���$��L_��D�
�

�H��)
�S

(1) 5B��J8#���8#)�2��
/�-R0���

(2) ��,����/��8���$+R�	���

(3) �^	�&���)�=����

(4) ���LQ�P�$��
�� P���
/�-R0���%

69. ���2�����$���$��L_�=G

���$�$�+/<�#��H�
�S

(1) ����E�
�$��� ��D�
E�?
���4���/��8��G�
�1��$�


(2) ����E �
�$��� ��18�2�&
��+����G���1��$�


(3) �A��#�$�  �E�?�2�&
��)�=����

(4) (>�� �E�)
��


 >�$�	���

70. ���*��F��1+�
��8�J8
��F

H�����������

(1) 9.6% (2) 96%

(3) 0.96% (4) 0.096%

67. The bacterium that lives in the roots
of leguminous plants is

(1) Mycoplasma

(2) Rhizobium

(3) Nitrobacter

(4) Lactobacillus

68. Which of the following is not related
to sweat glands ?

(1) Excess water and salts are
eliminated

(2) Regulate body temperature

(3) Present in skin

(4) Elimination of CO2

69. Which one of the following statement
is correct about collenchyma ?

(1) Uniformly thick all over the cell
wall

(2) Corners of the cell wall are
thickened

(3) Found in soft plant parts

(4) Helps in storage of food

70. The percentage of water in human

urine is about

(1) 9.6% (2) 96%

(3) 0.96% (4) 0.096%
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71. 5	�2����?�)�N8��5E�J�

 �g��(�����+���'	� �g�

�2�'
�S

(1) 5

(2) 6

(3) 7

(4) 8

72. 100 ����200 ����9�q�0��D��4I

 �g��2���$��������R�)
�S

(1) 7500

(2) 10000

(3) 15050

(4) 20000

73. ��#��������
���	��� �g�

�2�&.� k���2���� �C�

4I �g�$�$�
�H����)
�S

(1) 97

(2) 98

(3) 99

(4) 100

71. How many two-digit numbers are

there with their product of digits a

prime number ?

(1) 5

(2) 6

(3) 7

(4) 8

72. What is the sum of all odd numbers

between 100 and 200 ?

(1) 7500

(2) 10000

(3) 15050

(4) 20000

73. Which of the numbers below has an

odd number of factors ?

(1) 97

(2) 98

(3) 99

(4) 100
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74. 1 ���&�10 #��$�0��C&

 �g��2����?�)�N8�


HI#�����-�$�H��� �g�

���'��?�)�M�&�4���/1�C

#�?������S

(1) 2 (2) 3

(3) 5 (4) 7

75. 2n(2n+1 – 1) = 2016�(�)K�&� n

�R�)
�S

(1) 4 (2) 5

(3) 6 (4) 7

76.  (6 – 1) (62 – 1) (63 – 1) . . . (6100 – 1)

��� ?�)�N8�� �)	�	�

$�&.�4���F�O���
�5	�

�R�$���	���S

(1) 3 (2) 4

(3) 5 (4) 6

77. 5��
��
��1�
��C& �g�

�2�&�(���
���'C
��F

#�?��308025����309136 ���()
%

�1����
� �g�$����#�?�
�R�)
�S

(1) 310245

(2) 310247

(3) 310249

(4) 310251

74. What is the least number by which the

product of the natural numbers from 1

to 10 is to be multiplied to get a perfect

square ?

(1) 2 (2) 3

(3) 5 (4) 7

75. If 2n(2n+1 – 1) = 2016 , then what is n ?

(1) 4 (2) 5

(3) 6 (4) 7

76. If the product (6 – 1) (62 – 1) (63 – 1) . . .
(6100 – 1) is calculated, what would be
the digit in the one’s place ?

(1) 3 (2) 4

(3) 5 (4) 6

77. For three consecutive natural
numbers, the squares of the first two
are 308025 and 309136. What is the
square of the third ?

(1) 310245

(2) 310247

(3) 310249

(4) 310251
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78.
2

2
1

25 ⎟
⎠
⎞⎜

⎝
⎛

 �R�)
�S

(1) 625 
4
1

(2) 626
4
1

(3) 637
4
1

(4) 650
4
1

79. 4��� �g��$� 4� ���'��>��M
�=�����Y�� 3���G�%� �g�$���
#�?
���� 4� ���'
�>��M�&
��Y���R����G���S

(1) 0

(2) 1

(3) 2

(4) 3

80.  4
2
1

, 6, 10
2
1

 ��,� �g��2���

�C&�  �g������'�0

�D�� ?�)���2�����
�&.

�D�I�8��� �/���#�$�HI#��

��-�$��C& �g���R�)
�S

(1) 36

(2) 63

(3) 126

(4) 252

78. What is 
2

2
1

25 ⎟
⎠
⎞⎜

⎝
⎛

 ?

(1) 625
4
1

(2) 626
4
1

(3) 637
4
1

(4) 650
4
1

79. A number divided by 4 gives
remainder 3. What would be the
remainder if the square of the number
is divided by 4 ?

(1) 0

(2) 1

(3) 2

(4) 3

80. If all multiples of 4
2
1

, 6, 10
2
1

 by

natural numbers are taken, which is

the smallest natural number common

to all ?

(1) 36

(2) 63

(3) 126

(4) 252



M-1 P.T.O.

Class – VIII SAT

-25-

81. 4���/�<�
������/�q����1��

20 �1/$�)
�#�8%�/�<�
��


�/��$	������1/��1���8�)
%

4����/���1���#���$�&�(��

�+���1/$�����S

(1) 24

(2) 26

(3) 28

(4) 30

82. 4��� �g�$�����1�����������


�'���1G�$���.��1����1G�$���F

�'�� ������ ��8���)
%� �g�

�R�)
�S

(1) 1 (2) 2

(3) 3 (4) 4

83. 4���`� �&�30 (Q��G��2���20

�/Q��G��2���'
%�(Q��G�

�2����������� E���� 45 ���8�

+?����.��/Q��G��2����������

E����35 ���8�+?�����()
%����
�

`� ��8���G��2�����������E���

�+�����8�+?���)
�S

(1) 40

(2)  41

(3) 42

(4) 43

81. The price of a book and a pen is

20 rupees. The price of the book is

4 rupees more than the price of the

pen. If one more pen is bought, what

would be the total cost ?

(1) 24

(2) 26

(3) 28

(4) 30

82. The sum of thrice a number and two

is equal to twice the sum of the

number and three. What is the

number ?

(1) 1 (2) 2

(3) 3 (4) 4

83. There are 30 boys and 20 girls in a

class. The average weight of the boys

is 45 kilograms and the average

weight of the girls is 35 kilograms.

What is the average of the entire class ?

(1) 40

(2) 41

(3) 42

(4) 43
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84. 4���L>�E�J
��F�4����18$�&

	1���12 #���)�2�'
%�L>�E�J


��
� (��� �+�� #���)

�2�'
�S

(1) 72

(2) 90

(3) 144

(4) 180

85.

��+��2����9:�+����������&

/
���
���+�
�&��-�=�	�


�
.� ���
�� �����
��F

�+��E�?��)
�S

(1)  
1024

1

(2)
512

1

(3)
256

1

(4)
128

1

84. In a polygon, there are 12 diagonals

through a vertex. How many diagonals

are there in all ?

(1) 72

(2) 90

(3) 144

(4) 180

85.

If this pattern of figures is continued,

in the 10th picture what fraction of the

whole square is the unshaded part ?

(1)
1024

1

(2)
512

1

(3)
256

1

(4)
128

1
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86. ��+�
��8�8�L�
��F

 ��R�#��2�&���-����F
�1�������)
�#8��


�-�=�M� +�����)
��F�/�=
2#
.�8�L�
��F�/�=2#��F

�+��E�?��)
�S

(1)  
2
1

(2)
3
2

(3)
4
3

(4)
5
4

87. ��+�
��8� +�����)
��F
9�����#8����#���	
�4��
�,2��)
%

+�����)
��F�����
�4��
�18$�&����
�����#��

q�0�8�L
��F��,2���+�
� F��,I-�)
�S

(1) 4.8

(2) 6.4

(3) 8

(4) 9.6

86. In the trapezium shown below, the
longer of the parallel sides is three
times the shorter.

What fraction of the area of the
trapezium is the area of the shaded
triangle ?

(1)
2
1

(2)
3
2

(3)
4
3

(4)
5
4

87. The left and right sides of the triangle
shown are of the same length

What is the perpendicular distance
from one of the bottom vertices to the
opposite side, in centimeters ?

(1) 4.8

(2) 6.4

(3) 8

(4) 9.6

�
 
%�,

� %�,
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88. How many non-congruent triangles
can be drawn with one side
10 centimeters and one angle 100° ?

(1) 1 (2) 2

(3) 3 (4) 4

89. The volume of a rectangular box is
60 cubic centimeters. What is the
volume of a box with each side
double that of this box, in cubic
centimeters ?

(1) 120 (2) 180

(3) 240 (4) 480

90. In the picture, three regular pentagons
and a triangle are joined together.

What is the ratio of the angles of the
triangle ?

(1) 1 : 1 : 2 (2) 1 : 2 : 2

(3) 1 : 3 : 3 (4) 2 : 3 : 3

88. 4���#��� 10 � F��,I-��.� 4��
���Q� �100 $���($� ��8��
D�
��+�� �/���^+�����)
���#�q���S

(1) 1 (2) 2

(3) 3 (4) 4

89. 4��������=G�$����#��/e�� 60

k�� F��,I-�)
%�#��

�2D���9���F� �'�� ����$

�����=G�$����#��/e���+�

k�� F��,I-�)
�S

(1) 120 (2) 180

(3) 240 (4) 480

90. ��+�
�&� �1��� �/fE�J

�2���4���+�����)#������
�
#M���	���

+�����)
��8� ���)���

�i�8�0�5��L_���R�)
�S

(1) 1:1:2 (2) 1:2 :2

(3) 1:3:3 (4) 2:3:3
––––––––––––––
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